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OYFAHE RS ABHIDSF X &
10,000,000 = 13| 10,000
307 QI2t0| ™ 280,200 262,300 17,900
03 I HEHESIEHIEX 140,700 134,300 6,400
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e E-E
Y ZINEE A2 (AMSEX/BE)
ool HEBEN EERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Oa0lZdsl dxFAlXs 298 X&
4,300,000& = 4= 7| 17,200
OXszZIdRE: GFAMXNa 234 N2
4,300,000& = 4= 7| 17,200
ONESZA0IYs AFAIXE 2SSl e
4,300,000& = 4= 7| 17,200
Of3=2xa I=AlKXs 294 XA
4,300,000& = 4= 7| 17,200
Oz=3 =S HEXs 298 NI (BExE
T oK) 1,575,000& * 42| 6,300
O6.258 82 3X3 =AXNE 224 N2 (2
T8 HN) 4,500,000& = 4= 7| 18,000
OHLHFHNE IEANE 24l N (X
g %) 3,000,000 * 4&7I 12,000
ONYHAERS IFAXE 298 NI (BEXE
T oK) 2,625,000 * 42 7| 10,500
OSx=g2RBIa EFX3 2LH XN (Ex
g %) 775,000 * 42| 3,100
OZ=ATerzels 2498 XA
5,500,000& = 4= 7| 22,000
05 RIZIRIE 3 100,000 87,000 13,000
Olst2=IIEgsd 234 X
25,000,000& * 4&7I 100,000
11 ALSI S XA E = 39,500 41,000 A 1,500
ONAS E2UaR /I2 XNE
100,000& * 60H 6,000
OLoRAXXNUSAES(EFZLRBIE)
500,000& = 13l 4,500
OIF=XNEE 2 MISMES(DLSHELSE)
5,000,000& * 13 = 80/100 4,000
Os= 2244 22 2 MESHA
2,000,000& = 13l 2,000
O=Z3g(&4gd, Z2=2) JIgdM X 10,000
— o LE YA 5,000,000& = 13l 5,000
—Z=Z A 5,000,000& = 13l 5,000
OMEZERES S3I8=2H
2,000,000& * 14 2,000
O==dE2 & A 4,000,000& = 14 4,000
OMali=32 & A 4,000,000& * 14l 4,000
OFSFSES=PUNE - Relg-J\; 3,000,000& = 14 3,000
401 AlEH 22 0hYI 30,000 60,000 ~30,000
01 A& HI 30,000 60,000 230,000
Olfst2=t g3 2l 30,000
—Jlgs¥ €7 L2 WA
10,000,000& * 14 10,000
—H3JI3¥ =4 15,000,000 * 14 15,000




SN =2XEYY
= JNEE 22 (MI=EX/BEE)
ool HEBEN EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— oot & BX =M 5,000,000 = 14l 5,000
(D)2 VHU= 1,809,000 1,272,000 537,000
< 657,000
Al 1,152,000
301 LA S 1,809,000 1,272,000 537,000
< 657,000
Al 1,152,000
01 MEIBZE 263 1,809,000 1,272,000 537,000
ORI Hol=<
150,000& * 985 * 123 1,773,000
< 657,000
Al 1,116,000
OHEREA ALRZ2S
300,000& * 10 » 123 36,000
B+ 603,000 603,000 0
301 LEENZ 603,000 603,000 0
01 MEIBEZE 6= 603,000 603,000 0
OEsZi=¢ X& 603,000
—E2EUaR Zox<
70,0003 = 700& = 12 588,000
— B AZRIZZ 300,000& * 50H 15,000
HE2AZIH (SN2 (IIEH/IIE) 288,628 104,984 183,644
= 50,347
< 15,103
Al 223,178
ol 2d | 169, 144 104,984 64,160
= 50,347
< 15,103
Al 103,694
(A2 SEAte2el X (AdA]) 22,217 9,927 12,290
= 1,500
< 450
Al 20,267
101 @14 dl 22,217 9,927 12,290
= 1,500
< 450
Al 20,267
03 RIAHAZZ N E =+ 22,217 9,927 12,290
OSE At 2el At XI& 22,217
— W=l 200,000& = 3H = 53| 3,000
= 1,500
< 450
Al 1,050
— S E S0t
2,032,400 = 75% » 23| » 3H 9,146
— ZHZ A 130,000& = 3Y¥ = 128 4,680




SH =SNEMY
M HHE2HAH(SXF ) (IIEHIIE)
Sel: o2y (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— NHEH =S (0SEH)
298,800& * 2H =« 43| 2,391
- &= 1,920
- Xt 40,0003 * 1H « 123 480
- JIEH(EM XA L&)
20,0008 = 3% = 128 720
- SEMAH 60,000& = 1% = 12& 720
— 22yl 90,0003 = 3% = 43 1,080
(R)SE A 22l PRI & (21 248]) 97,693 95,057 2,636
= 48,847
< 14,653
Al 34,193
101 @124l 97,693 95,057 2,636
2 48,847
= 14,653
Al 34,193
03 RIHAZZ N E =+ 97,693 95,057 2,636
OSe At &l Ab XI& 32,564,300& * 3¥ 97,693
2 48,847
< 14,653
Al 34,193
ol 2AH| 49,234 0 49,234
101 14 Hl 49,234 0 49,234
03 RIAHAZZ2 T2+ 49,234 0 49,234
OLAESA(HelYA)2el 2l 49,234
—JlZs 2,057,950& » 1H » 128 24,696
—HESI  2,057,950@ * 75% x 1H x 23| 3,087
— A ZRE
12,1773 = 15AI12F = 150% » 1H » 128 3,288
—pYuaRLy
97,4163 * 150% * 1H » 50 7,307
— s essI=Y  97,416F * 1H » 15¢ 1,462
— ZHZ A 130,000& = 198 = 122 1,560
— WS 2Ll 100,000& = 1H = 123 1,200
— o=l 100,000& = 18 ~ 1€& 100
— MM 39,837,560& * 16.4% *1H 6,534
Jl=3l 119,484 0 119,484
Jl2&l 119,484 0 119,484
201 Yer2 bl 27,144 0 27,144
01 At 22l 27,144 0 27,144
OJIZ2dHE MRESHI 3,780
—SMEX FLHI(AM IIE)
15,0002 » 218t A « 12 3,780
OS20AH| 7,000& * 64l * 21H 123 10,584
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2 S2XNEMY
M. HESHZH (22X H D) (IIEHDIE
@ Jl2gl (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Odbte= 100,000& * 128 1,200
o212 EANFHI 50,000& = 12& 600
O =464l 9,720
— S A =2l 1,000,000& = 1CH 1,000
— Z2EDl %2l 100,000 * 4CH = 50/100 200
—SAI EY 200,000& = 53] = 1.504 1,500
—Z2HI(EY) EY
200,000& * 53 = 504 5,000
— Z2IgD(Ze) EY
200,000& * 53 = 10CH 1,000
— PC==2l 100,000€ * 21CH = 20/100 420
— J|Et==2l bl 50,000& = 12& 600
OJIEF AFR 22| 5,000& = 21 = 128 1,260
202 04 Hl 86,940 0 86,940
01 2ol 86,940 0 86,940
OSXEMY A2 0L 86,940
— 2UHOIBl 20,0002 * 212 * 122 * 128 60,480
— 2oloft 90,0002 * 212 * 14 26,460
203 ¥R =&XH| 4,200 0 4,200
04 ENSI IR =AY 4,200 0 4,200
ORNM2IIRF&Y| 350,000& « 12& 4,200
204 MR A Y| 1,200 0 1,200
01 MR- AY| 1,200 0 1,200
OXNMIAL2LHAH 100,000& * 1H = 128 1,200
HEES(SXNEHY) (AL EX /I ZHESE) 2,031,641 1,893,561 138,080
WEHAH X = 2,031,641 1,893,561 138,080
WEAHHX = 2,031,641 1,893,561 138,080
701 JIEIS HEHES 2,031,641 1,893,561 138,080
1Bt HEE 2 2,031,641 1,893,561 138,080
Q9220 X2H| (Xl 2H EoH)
2,008,629,000& » 14 2,008,629
Oz &2IA =& 23,012
— 9 &=l
2,156,000& * 29 x 75% * 23] 6,468
— HHZ A 130,000& * 29 x 128 3,120
—nNESXH| 100,000& * 299 = 128 2,400
—&03 2,156,000& * 50% » 2% * 43| 8,624
—ItE4 100,000& * 29 = 128 2,400




